

05/05/2023

Page 1 of 1

**Vendor Ranking** 

\_\_\_\_

**Letting:** 04230505

May 05, 2023 10:30 AM

Call Order: 006

Contract: E4W78-R0

**District**: District 4

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s)**: 44100757201 (\*)

Contract Desc: TREASURE COAST MULTI-POST SIGN REPAIR AND INSTALLATION

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SAFETY SYSTEMS BARRICADES CORP.	Responsive	Winning bid	\$40,996.78	100.00%
2	ALEXANDER DESIGN + BUILD, LLC	Responsive	Non-Winning Bid	\$52,842.38	128.89%
3	WATERBLASTING, LLC	Responsive	Non-Winning Bid	\$68,322.10	166.65%
4	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$131,730.90	321.32%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

**BEGIN DATE:** 

05/30/23

**BEGIN TIME:** 

10:30 AM

**END DATE:** 

06/02/23

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$ 50,000.00 and not the contractors bid total.





**Tabulation of Bids** 

Page 1 of 10

**Letting:** 04230505 May 05, 2023 **Call Order:** 006 **Contract:** E4W78-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44100757201 (\*)

Contract Descr: TREASURE COAST MULTI-POST SIGN REPAIR AND INSTALLATION

The work within this Contract consists of all materials, labor, and equipment necessary to remove, repair, and/or replace guardrail sections and to furnish, install, repair and remove signs along State Roadways in St. Lucie, Martin, and Indian River Counties.

- MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$50,000.00 and not the contractors bid total.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- GENERAL LIABILITY: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

Line No / Item ID Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) ALEXANDI BUILD		(3) WATERB	LASTING, LLC
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	3.000 AS	380.00000	1,140.00	650.00000	1,950.00	655.00000	1,965.00
0010 0700 1 12 SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	1.000 AS	1,273.00000	1,273.00	1,345.00000	1,345.00	1,411.00000	1,411.00
0015 0700 1 13 SINGLE POST SIGN, F&I GROUND MOUNT, 21-30 SF	1.000 AS	1,635.00000	1,635.00	1,535.00000	1,535.00	1,411.00000	1,411.00



Page 2 of 10

# Florida Department of Transportation



# **Tabulation of Bids**

Letting	<b>g</b> : 0	4230505	May 05, 2023	Ca	II Order: 006		Contract:	E4W78-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) ALEXAND BUILD		(3) WATERBI	_ASTING, LLC
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0020 SINGLE	0700 1 40 POST SIGN,	INSTALL	2.000 AS	321.00000	642.00	650.00000	1,300.00	1,000.00000	2,000.00
0025 SINGLE	0700 1 50 POST SIGN,	RELOCATE	3.000 AS	254.00000	762.00	275.00000	825.00	400.00000	1,200.00
0030 SINGLE	0700 1 60 POST SIGN,	REMOVE	3.000 AS	30.00000	90.00	150.00000	450.00	299.00000	897.00
	0700 2 13 POST SIGN, 7, 21-30 SF	F&I GROUND	1.000 AS	4,000.00000	4,000.00	3,880.00000	3,880.00	4,100.00000	4,100.00
	0700 2 14 POST SIGN, 7, 31-50 SF	F&I GROUND	1.000 AS	4,000.00000	4,000.00	5,100.00000	5,100.00	4,999.00000	4,999.00
	0700 2 15 POST SIGN, 7, 51-100 SF	F&I GROUND	1.000 AS	4,400.00000	4,400.00	6,450.00000	6,450.00	9,000.00000	9,000.00
0050 MULTI- RELOC		GROUND MOU	1.000 JNT, AS	2,500.00000	2,500.00	3,250.00000	3,250.00	9,990.00000	9,990.00
0055 MULT <b>I-</b>	0700 2 60 POST SIGN,	REMOVE	2.000 AS	500.00000	1,000.00	275.00000	550.00	1,199.00000	2,398.00
	0700 3101 ANEL, FURNI ID MOUNT, U	SH & INSTALL P TO 12 SF	3.000 EA	225.00000	675.00	350.00000	1,050.00	398.00000	1,194.00





# **Tabulation of Bids**

Page 3 of 10

Lettin	<b>g</b> : 0-	4230505	May 05, 2023	Са	II Order: 006		Contract:	E4W78-R0	
	No / Item ID	Alternate	Quantity Units	(1) SAFETY BARRICAD		(2) ALEXAND BUILD		(3) WATERB	LASTING, LLC
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0700 3102 ANEL, FURNIS ND MOUNT, 12	SH & INSTALL 2-20 SF	2.000 EA	450.00000	900.00	475.00000	950.00	458.00000	916.00
	0700 3103 ANEL, FURNIS ND MOUNT, 21	SH & INSTALL 1-30 SF	2.000 EA	750.00000	1,500.00	875.00000	1,750.00	900.00000	1,800.00
	0700 3104 ANEL, FURNIS ND MOUNT, 31	SH & INSTALL 1-50 SF	2.000 EA	800.0000	1,600.00	980.0000	1,960.00	1,500.00000	3,000.00
	0700 3105 ANEL, FURNIS ND MOUNT, 51	SH & INSTALL 1-100 SF	1.000 EA	1,800.00000	1,800.00	1,950.00000	1,950.00	2,500.00000	2,500.00
		SH & INSTALL UP TO 12 SF	3.361 EA	700.00000	2,352.70	875.00000	2,940.88	900.00000	3,024.90
	0700 3202 ANEL, FURNIS IEAD MOUNT,	SH & INSTALL 12-20 SF	7.000 EA	750.00000	5,250.00	1,200.00000	8,400.00	1,250.00000	8,750.00
0095 SIGN P	0700 3401 ANEL, INSTAL	_L, UP TO 12 S	2.000 F EA	140.00000	280.00	225.00000	450.00	250.00000	500.00
0100 SIGN P	0700 3402 ANEL, INSTAL	L, 12 <b>-</b> 20 SF	2.000 EA	175.00000	350.00	285.00000	570.00	300.00000	600.00
0105 SIGN P	0700 3403 ANEL, INSTAL	LL, 21 <b>-</b> 30 SF	2.000 EA	200.00000	400.00	300.00000	600.00	300.00000	600.00



Page 4 of 10

### Florida Department of Transportation



# **Tabulation of Bids**

Letting:	: 04	1230505	May 05, 2023	Ca	II Order: 006		Contract:	E4W78-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) ALEXAND BUILD		(3) WATERBI	LASTING, LLC
	-	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0700 3404 NEL, INSTAL	L, 31 <b>-</b> 50 SF	2.000 EA	350.00000	700.00	325.00000	650.00	300.00000	600.00
	0700 3405 NEL, <b>I</b> NSTAL	L, 51-100 SF	1.000 EA	875.00000	875.00	500.00000	500.00	890.00000	890.00
	0700 3601 NEL, REMOV	/E, UP TO 12	8.000 SF EA	50.00000	400.00	75.00000	600.00	99.00000	792.00
	0700 3602 NEL, REMOV	/E, 12-20 SF	4.000 EA	75.00000	300.00	100.00000	400.00	30.00000	120.00
	0700 3603 NEL, REMOV	/E, 21 <b>-</b> 30 SF	4.000 EA	100.00000	400.00	125.00000	500.00	30.00000	120.00
	0700 3604 NEL, REMOV	/E, 31-50 SF	5.000 EA	175.00000	875.00	100.00000	500.00	199.00000	995.00
	0700 3605 NEL, REMOV	/E, 51-100 SF	1.000 EA	500.00000	500.00	350.00000	350.00	760.00000	760.00
	E700 30 1 NEL OVERLA	AY, SINGLE P	8.892 OST SF	27.00000	240.08	125.00000	1,111.50	100.00000	889.20
	E700 30 2 NEL OVERLA	AY, MULTI PO	4.000 ST SF	28.00000	112.00	175.00000	700.00	150.00000	600.00





# **Tabulation of Bids**

Page 5 of 10

Letting:	04230505	May 05, 2023	Ca	II Order: 006		Contract:	E4W78-R0	
Line No / Ite		ate Quantity Units	(1) SAFETY BARRICAD		(2) ALEXANDI BUILD		(3) WATERB	LASTING, LLC
() indicates ite	m is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0155 E700 3	0 3	1.000	45.00000	45.00	275.00000	275.00	300.00000	300.00
SIGN PANEL O	/ERLAY, OVERH	EAD SF						
	(GRND SIGNS 30 T OR LESS)(UN)			\$40,996.78		\$52,842.38		\$68,322.10
	Contract	Grand Totals:		\$40,996.78		\$52,842.38		68,322.10





# **Tabulation of Bids**

Page 6 of 10

Letting:	04	1230505	May 05, 2023	Ca	Il Order: 006		Contract:	E4W78-R0	
	o / Item ID escription	Alternat	e Quantity Units	(4) ACME BAF	RRICADES LC				
() indica	ates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
5	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
SINGLE PO	700 1 11 OST SIGN, JP TO 12 SF	F&I GROUND	3.000 AS	1,500.00000	4,500.00				
		F&I GROUND	1.000 AS	3,000.00000	3,000.00				
		F&I GROUND	1.000 AS	4,000.00000	4,000.00				
	700 140 OST SIGN,	INSTALL	2.000 AS	1,000.00000	2,000.00				
	700 150 OST SIGN,	RELOCATE	3.000 AS	1,000.00000	3,000.00				
	700 160 OST SIGN,	REMOVE	3.000 AS	200.00000	600.00				
		F&I GROUND	1.000 AS	6,500.00000	6,500.00				
		F&I GROUND	1.000 AS	8,500.00000	8,500.00				
		F&I GROUND	1.000 AS	12,000.00000	12,000.00				



Page 7 of 10

### Florida Department of Transportation



### **Tabulation of Bids**

	_				
--	---	--	--	--	--

Lettin	<b>g</b> : 0	4230505	May 05, 2023	Cal	l Order: 006		Contract:	E4W78-R0	
	No / Item ID Description	Alternate	e Quantity Units	(4) ACME BAR	RICADES LC				
	-	oid as Lump Sum	- 11112	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT (	OR LESS)(UN				
0050 MULTI- RELOC		GROUND MOU	1.000 JNT, AS	10,000.00000	10,000.00				
0055 MULTI-	0700 260 POST SIGN,	REMOVE	2.000 AS	2,500.00000	5,000.00				
	0700 3101 ANEL, FURNI ND MOUNT, U	ISH & INSTALL IP TO 12 SF	3.000 EA	500.00000	1,500.00				
	0700 3102 ANEL, FURNI ND MOUNT, 1	ISH & INSTALL 2-20 SF	2.000 EA	1,500.00000	3,000.00				
	0700 3103 ANEL, FURNI ND MOUNT, 2	ISH & INSTALL 1-30 SF	2.000 EA	2,000.00000	4,000.00				
	0700 3104 ANEL, FURNI ND MOUNT, 3	ISH & INSTALL 1-50 SF	2.000 EA	3,000.00000	6,000.00				
	0700 3105 ANEL, FURNI ND MOUNT, 5	ISH & INSTALL 1-100 SF	1.000 EA	4,500.00000	4,500.00				
		ISH & INSTALL , UP TO 12 SF	3.361 EA	2,500.00000	8,402.50				
	0700 3202 ANEL, FURNI IEAD MOUNT	ISH & INSTALL , 12-20 SF	7.000 EA	3,000.00000	21,000.00				





# **Tabulation of Bids**

Page 8 of 10

Letting:	04230505	May 05, 2023	Са	II Order: 006		Contract:	E4W78-R0	
Line No /		ate Quantity Units	(4) ACME BAF	RRICADES LC				
	item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0 3401 , INSTALL, UP TO 12	2.000 SF EA	400.00000	800.00				
	) 3402 , INSTALL, 12 <b>-</b> 20 SF	2.000 EA	1,300.00000	2,600.00				
	) 3403 , INSTALL, 21-30 SF	2.000 EA	1,800.00000	3,600.00				
	) 3404 , INSTALL, 31-50 SF	2.000 EA	2,800.00000	5,600.00				
	) 3405 , INSTALL, 51-100 SF	1.000 EA	4,200.00000	4,200.00				
	) 3601 , REMOVE, UP TO 12	8.000 P. SF EA	100.00000	800.00				
	) 3602 , REMOVE, 12-20 SF	4.000 EA	150.00000	600.00				
	) 3603 , REMOVE, 21-30 SF	4.000 EA	200.00000	800.00				
	) 3604 , REMOVE, 31-50 SF	5.000 EA	250.00000	1,250.00				





**Contract Grand Totals:** 

### **Tabulation of Bids**

Page 9 of 10

Letting:	04230505 N	1ay 05, 2023	Cal	l Order: 006		Contract:	E4W78-R0	
Line No		Quantity Units	(4) ACME BAR	RICADES LC				
() indicate	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001 (	SIGNS(GRND	SIGNS 30 SQ FT (	OR LESS)(UN				
	00 3605 L, REMOVE, 51-100 SF	1.000 EA	500.00000	500.00				
	00 30 1 L OVERLAY, SINGLE POS	8.892 ST SF	200.00000	1,778.40				
	00 30 2 L OVERLAY, MULTI POS	4.000 Γ SF	300.00000	1,200.00				
	00 30 3 L OVERLAY, OVERHEAD	1.000 SF	500.00000	500.00				
	GNS(GRND SIGNS 30 Se SQ FT OR LESS)(UN)	ction Totals:		\$131,730 <b>.</b> 90 <sup>'</sup>		,		

\$131,730.90



05/05/2023

#### **Tabulation of Bids**

Page 10 of 10

**Letting:** 04230505 May 05, 2023 **Call Order:** 006 **Contract:** E4W78-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.